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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

@1 R+JM2$#QR?+O@7F3 Question ID : 9864493773
Status : Answered
WWWHWWWM Bﬁ Chosen Option : 2

R#+ : J?F = $0J :
RATM2$#QR*O@TF3
Using the above sequence fill in the blank
R#*:J?F::80T:
Ans X1 QF =
V2 GF #
< 3. MOF

Kao#g@3

2 ;
Q2 wrady 2018 ¥ 9T & @1 FHH FHiT 2?2 Question ID : 9864492207
Who is the Defence Minister of India as of February 2018? Status : Not Answered

Ans x 1 FAT SiI'RT-TI' Chosen Option : --
Uma Bharti

V2 e daEe
Nirmala Sitharaman
AT el
Maneka Gandhi
g&m FIIS

X 3

X 4
Sushma Swaraj

Q3 :
icr=} 8ol F Question ID : 9864492960

Status : Not Answered
24 - [25- {26 - (27 - 28—29)}] =7 Chosan Option :~

Solve the following:

24 - [25- {26 (27- 28—29)}] =7

Ans
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X1-2
v2-3
X 31
X4
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Q.4

Ans

1.004 — 0.4 TohES ST &7
1.004 — 0.4 is equal to:

& 1.0.006
X21

X 3.0.640
v 4 0.604

Question ID
Status

Chosen Option :

19864492481
: Answered

4

Q.5

Ans

R wTge, WRE = g g, IT TeEr gl % fay w T

|

The Indira Point, the southern point of India, is situated in the

Nicobar Island.

o, e

weastern

X2 S

northern

X3.q‘ﬁ

eastern

gfarofr

southern

v &

tip of Great

Question ID
Status

Chosen Option :

19864492106
:Not Answered

Q.6

Ans

Teh TSR ST o Soied o1 FORT TS EHT Soielleh & foraehT oiers 7 dareT s =iss
4 TEET ¥ MG 7197 7 T 21 HET F1 5H I 50 & e svraeas s

AFTFAT R

A spherical glass vessel has a cylindrical neck 7em long and 4cm in diameter. The
diameter of the spherical part is 21cm. Find the quantity of water it can hold.

1 4932 U TIHET

4932 cm?
4939 U HAHRET
¥ &)
4939 cm?
4930 UT TIrHET
4930 cm?
4929 Ul TEHET

4929 cm?

Question ID
Status
Chosen Option

19864492571
:Not Answered

Q.7
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Question ID
Status
Chosen Option

19864493677
:Not Answered
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Rrarma R e it AT d T A s e s e R & @
Fi AT Fua gATT F

fE g3+ g FT 99 TAF & o ¥ AL FT ISl F a5 Fraar 22

FYT:
1. I3 afel &1 TF TrAE g7 5 TreranA 2
2. &1 Jg i afe T gl o, & A B Ao F ol gt & 20 Farema
afers 1

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is the weight of ten iron balls if each ball is of the same weight?
Statements:
1. One-fourth of each ball’s weight is 5 kg.

2. The total weight of three iron balls is 20 kg more than the total weight of two iron
balls.

Ans x1_
R FYT 2 TATT & AITF el 1 FUT JUATT &

Statement 2 alone is sufficient while statement 1 alone is insufficient

2 gl YT 1 3R 2 qIeT &
Both statement 1 and 2 are sufficient

(S_ma’riﬁzrrm gqaTeg g a4r 2

Either statement 1 or 2 1s sufficient

X 4
Ihell HYA 1 AT & AT 37hell YT 2 AT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

Q.8 10 orEt ¥ wHg F wrdH F 3w 20 Bl 3 TEE H ¥ oF o Fwa S i
ar 9% TEE @7 AT aEHT 21 @ T ¥ O T o § onfEe A W Question ID : 9864492778
areaieR 1 AET geRt 20.6 @ AT ¥ WHE & AR ¢ oI AN weg A Status : Not Answered
AT N T F woa F AT Fw R Chosen Option : --

The average marks obtained by a group of 10 students were 20. One student left the group
as a result of which the average of the remaining students rose to 21. But another student
joined, as a result of which the average marks of the group dropped a bit and became 20.6.
‘What were the average marks obtained by the student who left and the one who joined?

ans o 114
X213
X516
X 415

Q.9 =fer 31mest & i v w20 AT F U ST mea §1 3 et 3 4 s s it [ SR
- . uestion 5
s F o R T maa
Five men or ten women can complete a job in 20 days. In how many days can 3 men and 4 Status : Not Answered
women complete it? Chosen Option : --
Ans x 1.15%

~ 210
W3 20
< 425

Q.10 = - F- T
FAaY H SR T FIA-H AT I FEIeHT HeA 72 Question ID : 9864492431
Which state of India celebrates the ‘Sangai Festival® in November? Status : Answered
Ans AL Chosen Option : 2
3
X<
Gujarat

FforR
VIR
Manipur
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X3 2
Tamil Nadu

HTHETH
Assam

X4

Www.facebook.com/superpathshalaﬂ

QM =fafaa 7 @ wia ar aeifetor wefvas et . smaRa g2
Which of the following classifications 1s based on atomic numbers?

Ans x 1.
ZaeL T ¢35 & o197 (Dobereiner's Law of Triads)

Doberemer’s Law of Triads

iiereeq & =geigd A
X2

Newlands Law Of Octaves
< 3.

Haelg T Hafeis arell (Mendeleev's Periodic Table)
Mendeleev’s Periodic Table

. 3T 3Tarder IO
Y SR

Modern Periodic Table

Question ID : 9864493194
Status : Answered
Chosen Option : 4

Q.12 g # o e grfr #fger g TAFE 2016 F TEAT BT G OH
I JeTelEw F EUeT Sfer o

‘Which team won the 2016 Champions Trophy Women’s Hockey tournament defeating
Netherlands in the finals in London?

Ans X1 EIEGE
India
X2 3
Australia
CIG
China
v HTAET
Argentina

X 3.

Question ID : 9864492259
Status : Not Answered
Chosen Option : --

Q.13 37 feeT & T899 A W 9 T EF 3 TR & wafdg &, SR gmw
% TEe UE & Hafd g

FE ;S IR

~

Select the option that is related to the third term in the same way as the second term is
related to the first term.

‘Work : Joule :: Power :

Ans CiES]

r 0

Strength

Question ID : 9864494383
Status : Answered
Chosen Option : 3

Q14 fafafea # & #l7 @ aig FAY & TOA T aTT ¥ H g ¢ ?
‘Which of the following metals is a liquid at room temperature?

FB Group: SSC Railway GK Aptitude

Question ID : 9864493391
Status : Answered
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Ans Chosen Option : 3
x , FioEH | J
Calcium

<2 e
Lithium
IRy

3.
Mercury

(4_;=h%m=r

Sodium

Q15 37 fasheT &1 T3 X, S & IS T e 7 3w e Question ID : 9864494187

Status : Answered

+

. l?| + Chosen Option : 1
- T | 1 |
- + . -

Select the option that would come next in the given figure series.

BIIREHG S

Ans

v )

+ | »

X
I+e

+e|

N

Q.16 14,21 3'ﬂT 35 <hT of.4. %‘? Question ID : 9864492662
The LCM of 14, 21 and 35 is: Status : Answered

Ans X 1140 Chosen Option : 4
X27
V'3 210
X 470

Q7 3z 3ETery T A F fomer ATewH ¥ S AT 82 Question ID : 9864493378
The egg is carried from the ovary to the womb through: Status : Answered

Ans Chosen Option : 4
o FTeirer

the cervix

T 3B

the vas deferens

V5 [EECIEC]]

the oviduct

X2
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x4 IHTIRT

the uterus
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Q.18 A$1%MB#B&NC=3I0D+KP
1 ¥ o O (@t wiFAfeE) % & Yearad! 38 o 3% a1 e e
foar AT & ¥ A ¥ 9i=Er 98 FiT | R

A$1%MB#6&NC=3!0D+KP
Starting from 1 till O (inclusive of both), if every alternate letter or number or symbol is
dropped then the fifth term from right is:

Ans x1_c
28
vt
X 4M

Question ID : 9864493828
Status : Answered
Chosen Option : 2

Q.19 o F ¥ Fi9 ¥ TF T 39007 WATS: TEF pH F AN & T o
T & & & fargr = §7

Which one of the following is commonly used as an indicator to measure the exact pH?

Ans > $eATeTheTelsT (Phenolphthalein)
Phenolphthalein

o s ‘
Universal indicator
EE IR

Eosin

reaw

Litmus

X 3.

X4

Question ID : 9864493589
Status : Answered
Chosen Option :1

Q.20 FA TG 3 SHGHR GG P AT - 3T HHN QU o Tohet & Fifeh 3oaf
G FIFTTqUE

Metals can be given different shapes according to our needs because they possess the
properties of:

Ans x1.
relehct AR TARITAET (Conductivity and sonorosity)

Conductivity and sonorosity

<2
JTucgefATar 3 @GRIAE (Malleability and sonorosity)
Malleability and sonorosity

K 3.
d=Idr 3T =@etehdr (Ductility and conductivity)
Ductility and conductivity

o 4
3MgcafAIar 3T F=gar (Malleability and ductility)

Malleability and ductility

Question ID : 9864493512
Status : Not Answered
Chosen Option : --

Q.21 et e @oliaor & o el x — 330 x — = ¥ o G ween A R e
& forar = aar &7

The two roots of an quadratic equation are given as x = %and x= %1 The equation can be
written as:

Ans X1 (2x—1)(Bx—1)=0
X2 2x+1DBx—-1)=0
vi(@2x-1DBx+1)=0
X4(2x+1DBx+1 =0

Question ID : 9864492716
Status : Not Answered
Chosen Option : --
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Q22 afzv,Usrae g, UWHRagagir X, Ustafd g ar W, V =T

Edl

If V is the brother of U, U is the sister of W and X is the husband of U, then W is V's

K1

== AT #E G @ A ==y Jely # i §RY € (Uncle or aunty)

Uncle or aunty

<2
AT Fo/ 2 =T TT AT/ ASAY ZaU= ST (Brother-in-law or sister-
in-law)

Brother-in-law or sister-in-law

(S_aﬁrmaﬁ

Brother or sister

W

X 4 At
Mother

Question ID : 9864493991
Status : Answered
Chosen Option : 3

B A few v Ry A raw T 2

Ans

‘What is the number of squares in the following figure?

vi5
X238
X3 7
X4 4

Question ID : 9864493736
Status : Answered
Chosen Option :1

Q.24 2 argw, &% a8 ¥ FF F g FHE 2 AR 3 9 & T SR oA A

%,m%mmﬂqﬁwéﬁaﬂsdiﬁmwmmméﬂi a:frg%

o St = Tl B v Ty @ R o SR e gl e s 7 e
AT FEE?

Two pipes, when working one at a time can fill a cistern in 2 hours and 3 hours,

respectively while a third pipe can drain the cistern empty in 6 hours. All the three pipes
were opened together when the cistern was % full. How long will it take for the cistern to

be completely full?

1 hour 30 minutes

L1 8 20 fAee
1 hour 20 minutes

1 e 15 fAae

1 hour 15 minutes

x

v 2
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Question ID : 9864492651
Status : Not Answered
Chosen Option : --
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Q.25 . . - =R =5
39 Eﬂﬁ e F A G # Hﬁ %I Question ID : 9864493949

Status : Answered
Chosen Option : 4

(1, 1), (4, 64), (8, 512), (9, 719)
Select the number pair that does NOT belong in the following group.

(1, 1), (4, 64), (8, 512), (9, 719)
Ans <4 (1, 1)

X 2 (4, 64)

X 3 (8, 512)

v (9, 719)

Q.26 =fefag a=r W e & 3t o o fr Seafeiae et J @ =

. Question ID : 9864494294
A e w2

Status : Not Answered
Chosen Option : --

AT T WA EE. TR AT F HEeR g T ST =Re ?

Rarg 1 : &, o8 RF # I & @B ve swEas ey gar &

faarg 2 : 7Y, T7 ST TWER ¥ BT 7o F 0 Sl Wi 2T B
Consider the given statement and decide which of the following argument(s) is/are strong.

Statement: Should CBDT abolish income tax in India?

Argument 1: Yes, it is an unnecessary burden on the wage earners in India.

Argument 2: No, it is a good source of revenue for Indian Government.

Ans x1_aa—=|?»rﬁa1a1 & T gl

Only argument 1 is strong.

| Faer faae 2 & w2
Only argument 2 is strong.

| Taere 1 3l 2 @t & wererd g
Neither argument 1 nor 2 is strong.

4‘ﬁaﬁ13ﬂ12aﬁmm—r%|

Both arguments 1 and 2 are strong.

v

x

x

Q.27
Question ID : 9864493792

Status : Answered

Chosen Option : 2
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weT fOEe & T WX e arelr /Y Agfa A 9 |

o || o

mdRalalns

o

A B C

Which of the four figures can replace the question mark?

o o
o

—?
+

ninals

B C

irs

Ans X1C

www.facebook.com/superpathshalaﬂ

Q.28 e Ry 31 3@ & @i AT TA 37 w=ihal F fafelfiied ¢ @ & o
verele ¥ Afhe et st §7

Question ID : 9864493752
Status : Answered
Chosen Option :1

N k]
[0 —— Boys ) ——  Athletcs
N — chtls [] ——= Disciplined
-syoBagH
-scitelhtAfE=mET
-slriGerzfar

-denilpicsiD3TeRe

In the below Venn diagram which number space represents the girls who are athletes but
not disciplined?

[0 —— Boys (@]

N\ —  Gs  [] ——= Disdplined

Ans x18
V24
X33

Athletics

FB Group: SSC Railway GK Aptitude
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Q.29 dieff # gl R fafEa 7 & e % 3T garr T e ST e &

Dwarfhess can be controlled by treating plants with:

Ane - AFCIHIBTAT (Cytokinin)
Cytokinin

_ Fafores 3wt (Gibberellic acid)
Gibberellic acid

S vrAferT (Ethylene)
Ethylene

) FHifFE (Auxin)

Auxin

v

x

x

Question ID : 9864493176
Status : Not Answered
Chosen Option : --

Q3o aﬁ%ﬁmﬂgﬁxgaa’rxwmmﬁ?

If % 1s equivalent to %’ then the value of x 1s:

Ans X1-18
X24
V315
X 45

Question ID : 9864492462
Status : Answered

Chosen Option : 4

Q.31 Distribution of various Minerals in Human

Body
sodium

%
Potasium g
40%
Calcium
25%
Iron

18% Magnesium

mCskium  ® Magnasim ®lron mPotasiom  mSodium

Distribution of various minerals in the human body- #=ra X & RfF=
oo #1 fawor

Calcium- e

Magnesium- H3=Aif=aT

Iron- #&T

Potassium- grefrmaT

Sodium- ®if3gH

f&ar T I AT ] & @St S AT & ewar § | A ol # S
¥ g @At 7 HEeTFHAT FAWT AU H Fer 82

Distribution of various Minerals in Human

Body
sodium

&%
Potasium gy
40%
calcium
25%
Iron

1% Magnesium

mCakcium  ® Magnesium ®lron W Potasium  ® Sodium

The given graph shows the distribution of minerals in the human body.
Which two minerals are required almost in the same percentage for the human body?

e, oA 3 |fsEA

Calcium and sodium

FB Group: SSC Railway GK Aptitude

Question ID : 9864494176
Status : Answered
Chosen Option : 3
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., AR R S

Magnesium and potassium

qs_mﬁmmq’laﬂaw

Sodium and potassium

x4_ﬂ:1%amw3m:‘-h:ﬁﬁmﬂ

Calcium and magnesium

32492 + 3(-2 x 3) - (18 + B) & A FT FIM? Question ID : 9864494046
What is the value of 12 + 3(-2 x 3) - (18 + 6)? Status : Answered
Chosen Option :1
Ans x 1.5
K25
<39
V-9

Q.33 R 71T Fo= F W A AT TT F F & T FEw F F W e =

. Question ID : 9864494376
FREINT T W G AT ST T E

Status : Not Answered
Chosen Option : --

U
77 AT T F FEEEET T AT % HRUT Wit HET WER ¥ FEE
gEaTe WX T AT

FHETE:
1. 7% 35T ST Feahlel o1, T A1l iR
2. T FET TR TRt s e B e @i

Consider the given statement to be true and decide which of the given courses of action
logically follow(s) from the statement.

Statement:

All the central government employees went on strike due to non-implementation of 7th
pay commission.

Course of Action:

1. 7th pay commission should be implemented immediately.
2. All the central government employees should be suspended.

¢1_ma’r1a:r:n2$rm?-r'5ﬁ?-n%|
Neither 1 nor 2 follows.
xz_aaﬂza:rmﬂ;rm%I
Only 2 follows.
x 31 A 2 =t F g g B
Both 1 and 2 follow.
4_a=—c|?»r1 T 9Tel=T BT 21

Only 1 follows.
Q34 P A a5 BT s r T
FEFT AT F " %‘? Question ID : 9864493595
Which of the following plant tissues is capable of cell division? Status : Not Answered
Ans m Chosen Option : --
v &)
Meristem
<2 :
Sclerenchyma

FB Group: SSC Railway GK Aptitude Telegram Channel: t.me/ssccglinfo\
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RemrgAr

Parenchyma

AEAH
Xylem

X 3

K4

Q.35 9T & HX. HRET AF 54 T & waw HUF A @ 300 dwc FAEe o
arel aet digara 5 T €| ug ofdefe tre #=r wer Werr Tam A

R. Ashwin of India became the quickest bowler to reach 300 test wickets in just 54 tests.
Where was this historic test played? Chosen Option : --

Ans CAGEES
F ! 2
Kanpur

Question ID : 9864492240
Status : Not Answered

Delhi

Q.36 e = it fEre o, e AT 7 atg ot # wewma R ar
3T 627 T 643 $HAT T AT T 17 A H FET A F v wfag F

was a Chinese Buddhist monk, who studied Buddhist Scriptures at Nalanda and is
famous for his 17 year long trip to India between AD 627 to 643. Chosen Option : --

Ans x1.m

Fa-hien
2 .
Hiuen Tsang

ATTEIAST
K 3.
Megasthenes

Question ID : 9864492085
Status : Not Answered

v

Q.37 o 7 90 Freieier #r gl oefre & ol ofr & a7 1 o sw= sw . ]
=3 N e . ; Question ID : 9864492650

¥ 5 U FAT T HUT S AEA A oA Wiy o F F Status : Not Answered
ofr? Chosen Option : --

Krishna cycled a distance of 90 km at a certain speed. If he cycled 3 km slower every
hour, he would have taken 5 more hours to reach his destination. What is the speed in
km/hr at which Krishna actually cycled?

ans X 1.15
X218
V9
X475

Question ID : 9864494115
Status : Answered
Chosen Option : 2
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few 1T 3w FEE & I @Sy F R W R Fe Fr 9f s
T FAE T A

ABC : ZYX :: DEF :

Select the missing term based on the given related pair of letter clusters.

ABC:ZYX:DEF:_
Ans 1 WUV
v 2 WVU
&3 UVW
2 4 VUW

Q.39
@ @ @ Question ID : 9864493945

1 2 3

A E@ @ Status : Not Answered

4 5 [3

@ @ E Chosen Option : --

L 8 9

oy Rw aw REt &1 9wt ax s & S @A A9 ST @9 & At
T g G

&2
AE©
=

If three groups could be formed using the given figures only once, these groups would be

Ans x (1,2,5), (4,7,8) 3T (3,6,9)
(1,2,5), (4,7.8) and (3,6,9)

L (129), 37.8) 3T (4,6,5)
(1,2,9), (3,7.8) and (4,6,5)

v: (1,2,5), (3,7.8) 3T (4,6,9)
(1,2,5), (3,7.8) and (4,6,9)

,(125), (3638) 3R (4,7,9)
(1,2,5), (3,6.8) and (4,7,9)

Q.40 ED ﬁ?ﬂ'&ﬁﬂ 1 %: Question ID : 9864493268

Status : Not Answered

x

One nanometer is:
Ans -9
o 10™ #HArex
10° m
10%° #Hrex
10%m
107" #Hrex
10710 m
107" #Hrex

101! m

Q4 [ ]

FB Group: SSC Railway GK Aptitude Telegram Channel: t.me/ssccglinfo\
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Mg R aw Rt & F9e tF A 3T & S @A A9 S e & At
¥ g g

If three groups could be formed using the given figures only once, these groups would be

(15,7), (268) 3 (4,3,9)
(1,5.7), (2.6.8) and (4,3.9)

v (187). (269) 3T (4,3,8)
(1,5.7). (2.6.9) and (4,3.8)

. (1,8,7), (2,6,9) 3T (4,3,5)
(1,8.7). (2,6.9) and (4,3.5)

,(257), (169 3R (4,3,8)
(2,5.7). (1,6,9) and (4,3.8)

x

x

www.facebook.com/superpathshaIaA

Question ID : 9864494030
Status : Not Answered
Chosen Option : --

Q.42 o1 o% W fEn Y 3 o & % R @ S s '

&
Feifear wamae & v B § 7 9 STt &t 3THETUT &Y WEr 9T
Ercalice i) o

Al

1. Aigenat & gram e

2. 9AcHN & HAHE Bl & &aT 31 et 2l

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The Supreme Court has decided that all rapists will be hanged till death.

Assumption:
1. Women will get protection.
2. The mumber of rapes cases can be reduced.

x1_13ﬁ?2aﬁm%

Both 1 and 2 are implicit

x, T IRaF2red
Neither 1 nor 2 is implicit

| el H I 2 T
Only assumption 2 is implicit

, e AT 1 TT€ §

Only assumption 1 is implicit

v

x

Question ID : 9864493670
Status : Answered
Chosen Option : 1

Q.43 77 & v F=RfET & & S @ TpioF 7o F1 v FEE 57 6 §?

Ans

‘Which one of the following is the largest source of natural energy to humans?

FB Group:
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Question ID : 9864493225
Status : Answered
Chosen Option : 4
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F !
Animals

X2 :[Eﬁ
Earth
gier

Plants

(4.@

Sun

X3

Q.44 77 3o 9 (Answer Figure) T =@ F{ #A1 99 =17 (Problem Figure) & )
Question ID : 9864493939
fa v # w6 @@ & 39554 B
Status : Answered

Chosen Option : 4

Problem Figure
A7
A

ANSE

Answer Figures

S

A B CD

Problem Figure - #&+FaT =&, Answer Figure - 3¢ =9
Select the Answer Figure that will correctly fit in the blank space in the Problem Figure.

Problem Figure

A7)~
[N
JAVAE

Answer Figures

S

A B CD

Ans X1D
X2C
X 3B
VA

Q.45 & FEmst &7 uEEe 20 Bl A ¥ U @E 1.25 §l gl wE 4 g

Question ID : 9864492640
The product of two numbers is 20. One of them is 1.25. What is the other number?
Status : Not Answered
Ans X 1.15

Chosen Option : --
<212
V'3 16
X414

Q.46 o :
Eﬂﬁﬁ-’l’-ﬂﬂ' HIFHISE ‘;IEE'I:t'I' q_ %’I Question ID : 9864493333

Status : Answered

Aluminium oxide is in nature.

Ans x1&:n-a-q-

basic

Chosen Option : 3
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Q.47 =it 3T wETr & 2 AT g1 vEe T A aef-EE & aeea 50 1§
AT gEr # 3. 1 7 HUT ¥ 57 3 ¢ 2 F wua H AT e s ¥
HfEwr THaor F I FRarer T S R g7
Two water-squash mixtures, the first with a water-to-squash ratio of 5 : 1 and the latter

with a ratio of 3 : 1 are blended in the ratio 3 : 2. What is the final water : squash ratio in

the blend?
Ans X' 1.5 :3
<210 :9

V41
K46

Question ID : 9864493026
Status : Not Answered
Chosen Option : --

A4 ST ZIOT T THAT FT HE FAT BT E ?
‘What is the Centre of Curvature of a spherical mirror?

Ans x1_

Question ID : 9864493384
Status : Not Answered
Chosen Option : --

g FET 3T W U g AT § T & FET 3T F GAAG TR
Tt afafdT & arg e €

It is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection.

v
U 3 TEer Fier @ g g@iar ¢ TSHeRT TR g9UT Uk ST Bl §
It is the centre of a hollow sphere of which the spherical mirror is a part.

X 3.

g e GUVT & HET FET W TS @ g ¥ Swd werer i Gt s @
e B &

Tt is a point from which the rays of light appear to be coming from on the principal axis of
a convex mirror.

4.ug?ﬂma&ma:rmﬁ§g‘lr-w%|

It is the midpoint of a spherical mirror.

x

Q49 Ty gl &L

—4—(-T—-12+4)=?

Question ID : 9864492679
Status : Not Answered
Chosen Option : --

Solve the following.

4 (~7—12+4) =2
Ans X 1.0.75
X2 -14
v3s
X4 -2

Q.50 g Fr T (7w MR B R) T IRcThNOT & FHOT T F
o g 1

The acceleration due to gravity at the surface of the earth (mass M and radius R) is
proportional to .

Ans M

Question ID : 9864493300
Status : Not Answered
Chosen Option : --
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Q.51 A AT va serargier 1 3 1.6 < 100 C, S aR A Y 1 A Rgge aryarfza

R I e 2 e SN N Question ID : 9864493126
i Status : Not Answered
Assuming that the charge of an electron is 1.6 x 1071% C, the number of electrons passing Chosen Option : --
through a section of wire per second when the wire carries a current of 1 A is:
Ans X 1.0.625 % 1017
< 2.1.6 x 101
V' 5625 x 1018
K 41,6 % 10710
Q.52
250 & 46% T aqET %’7 Question ID : 9864493027
. Status : Answered
46% of 250 is equal to: _
Chosen Option : 4
Ans X' 1.103.5
<2112
<392
v 4115
Q.53 S/ & v I #T 12% @i & WU 220 F a9 R@m 10% wner # o s .
it Question ID : 9864492768
FH 9% & Hed # faae Fgnm wige ar?
Status : Not Answered

Junko sold an item for 220 at a loss of 12%. By how much should she have raised the
price to make a profit of 10%?

Ans 1 T 55
X 2344
X 3325
X 4.348.40

Chosen Option :

Q.54 amg & FaEET B o wia § e 2018 & R ¥ M9 SRR
TgoT R 27
‘Who is the newly appointed Foreign Secretary of India who took charge in early 20187

Ans x 1 = el e
Rajni Sekhri Sibal

2 ICIGGH FAR e

Nitin Kumar Yadav

X3 39T T=AT
Usha Rani

" s e e
Vijay Keshav Gokhale

Question ID : 9864492305

Status :
Chosen Option :

Not Answered

Q.55 g s AT & ST & o ‘TR s @ 22
Which Indian actor’s biography is titled ‘ Anything but Khamosh’?
Ans T Tea
X
Raj Babbar
X2 :
Vinod Khanna

SECEEECT

Shatrughan Sinha

W 3

FB Group: SSC Railway GK Aptitude

Question ID : 9864492313
Status : Answered

Chosen Option : 3
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Q.56 Tr=faied & & Fi @ faFed BT a0 o & T guor wiafeT & gefar &
(3T & FAEET) HL?

HAPPY
Select the option that depicts the correct mirror image for the given word (ignore the size).

HAPPY

Ans of 1 Y99AH
< 2 HYbbA
< 3 YPPAH
< 4 AbbAH

Question ID : 9864494238
Status : Answered
Chosen Option : 3

W o # T Sl @ o AT &2
Which of the following solutions is alkaline?
Ans  of 1 [H*] <1 x 10~ "Mol/l
X 2.[H*] > 1x10""Mol/l
A 3 [H*] =1x10""Mol/l
X 4 [H*] =1 x 10~*Mol/l

Question ID
Status

Chosen Option :

19864493430
:Not Answered

Q.58 Fag 3t sEFEEE F @7 E-vhs W e e w= & v e
For § foereT w4 #T @ 32

India is collaborating with which country to set up a high-speed rail link between Mumbai
and Ahmedabad?

Ans Gﬁlfl?-ﬁ'
<

Germany

=TT

China

foea

Britain

STl

~ Japan

X2

< 3.

v

Question ID
Status

Chosen Option :

19864492438
:Not Answered

Q.59

FB Group: SSC Railway GK Aptitude

Question ID : 9864493657
Status : Not Answered

Chosen Option : --
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3ot = (answer figures) # ¥ few =0 @HEr BT (problem figure)dr arar
FAEEr o =1 === HL

Problem Figure

5B

(

g
g
5

@4 (e (e
o/ o/ o/

B C D

,69

.Choose the correct water image of the given problem figure from the answer figures

By

(

H
!
5

&)

o 4v e
R

Ans

X

‘B

XX
0

D

<
.
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Q.60 enfed To&T sTeaPR afie R BFF 89 7 sopee suatey & e faar
STar &7

The Shanti Swarup Bhatnagar Prize is annually awarded for outstanding achievement in
which area?

Ans x . m
Literature
. EEICE CeCETIC

Science and Technology

aRdT e e
Indian Classical Music
AT Ferr el
Tribal Art Forms

v

X 3.

X4

Question ID : 9864492324
Status : Answered
Chosen Option : 2

Q81 eafer o & T T &
Sound is a:

Ans mm

Tifys oet
Mechanical wave
X ’I"E’E(-_l;?r gﬁzﬁzr aGT

Electromagnetic wave

x

Question ID : 9864493343
Status : Answered
Chosen Option : 3
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g F afgda # EX F FAT FE AT E
The rate of change of velocity is called:

Www.facebook.com/superpathshalaﬂ

Question ID : 9864493279
Status : Answered
Chosen Option : 4

An
s x1_a?~r
Force
X2 Hl
Momentum
aJur

" Acceleration

aifT
Speed

W3

X4

Q.63 ofy 5 #eFs & ey a5g 7 3°1 5 ey W WHE & AgHT 10 Hex Wiy FHT
2 S & 3T 9T Tohae 27

If the initial velocity of a car is 5 m/s, and the final velocity is 10 m/s in 5 s, then the
acceleration is

Question ID : 9864493482
Status : Not Answered

Chosen Option

e 1 e o e des

v
1m/s?
x5 01 e afa T ahs
0.1 m/s?
s 10 #rex 9fF 9 Az
10 m/s?
5 #Hex 9y == d%s
< 4
5m/s®

Q.64 Siw 5 & 15 9 oier gl 12 a¥ 9gal ot 7 37 AT 7 37 § 1.5 Tl
ol Brer seae # frae af §r 32

John is 15 years younger than Till. 12 years ago, Jill’s age was 1.5 times that of John. Jill is
now years old.

Question ID :

Status

Chosen Option :

9864492652

:Not Answered

Ans x1_ 30
X 2 45
X342
v 4 57

QS sm eI A FswFm TR g @ma TR R HE s
BIT FIUT FT AT FAT 9?7

What is the measure of the smaller of the two angles formed between the hour hand and
the minute hand of a clock when it is 5:49 p.m.?

Question ID :

Status

Chosen Option :

9864492813

:Not Answered

Ans K 1.120°
v 2.119.5°
X 3.120.5°
<4 119°
Q.66

Question ID
Status

Chosen Option :

19864493725
:Not Answered
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T T 9K IE FET 4 F O FT THST BT 2T B
FIT T Gl TIF FH TE GaRT THE HAT TAT?

W Number of students

2 2 o o &
f o & & )
L e S

The bar graph represents the favourite fruit of grade 4 students.
Which fruit among the given below was chosen by the least students?

W Number of students

o o &

4.
Mango

Www.facebook.com/superpathshalaﬂ

Q.67 7fg FiF IF] JedHR T H GATS A &, O 30 W I

If a body is whirled in a circle, then the work done on it

Ans
xj{ﬂﬂ?ﬂiﬁ?

1s negative
x , (R & foham ST Feher &

cannot be determined
v: U &
1S Zero

41m¢|a|4$€r

1s positive

x

Question ID : 9864493621
Status : Answered
Chosen Option :2

Q.68 arferefrer SraTuy T Fr TF T AT &

The motile germ cell is called a/an:
Ans

FB Group: SSC Railway GK Aptitude

Question ID : 9864493217
Status : Not Answered
Chosen Option : --
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1 ATHR
vi 2
Male gamete
T3 S
K2 ?
Gamete

XS_Hlsxqiﬂ:ﬂ?

Isogamete
HTeT JIAH
K4

Female gamete
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Q89 L TEaT FT 26% 65 §l WEAT AT

26% of a number is 65. What is the number?
Ans x 1. 40
' 2.250
< 3260
< 450

Question ID
Status

Chosen Option :

9864492646
:Answered
2

Q70 goat et & T T A ATON WE P H T

W

1 2 3 4

Choose the correct figure that can replace the question mark.

L ?

Question ID
Status

19864493794
:Not Answered

Chosen Option : --

1 2 3 4
Ans  of 1 4
X 23
<32
x4
O T EeTt 3 +y = 13 pr+ 2y = 5% Question ID : 9864492495
ﬁ ﬁ ﬂ ﬂ Status : Not Answered
Gﬂéﬁ'aﬂé’ 3?‘[ ;lﬁ * Elﬁ Chosen Option : --

The pair of linear equations 3x +y = 1 and
px + 2y = b has no finite solution if

FB Group: SSC Railway GK Aptitude
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X2P=0
X3a0<p<6b
i P=6
O e g FL, Question ID : 9864492516
Status : Not Answered
1 1

?

1+8in8  1-Sind

Solve the following:

1 1 _
1+5in@  1-Sind

Ans  of 1 2Sec?d
K21
& 3.2Cos?6
X4 0

Chosen Option : --

Q.73 & o Fua FF T A go 9% v wie B sww RRea = @ wig
T forsas foreprel o7 @eRaT B

FUT:
Tl e faeelr 81wt fafeoat wemes &

forsant:
1. Tefr T o &
2. Wl e TEIEE #

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All dogs are cats. All cats are bats.

Conclusions:
1. All bats are cats.
2. All dogs are bats.

. 3 2 Gl 3T EOT FaT 8
Both 1 and 2 follow

[, el s 2 siegerer weer §
2.

Only conclusion 2 follows
AT AT 1 AT 2 AT AT €

Either 1 or 2 follows
Fao felsay 1 37JEIOT AT &
4

Only conclusion 1 follows

x

x

x

Question ID : 9864493692
Status : Not Answered
Chosen Option : --

@™ FIEERE H IAIET FT 82
What is the atomicity of Phosphorus?

e aReE

Di-atomic

FB Group: SSC Railway GK Aptitude

Question ID : 9864493527
Status : Not Answered
Chosen Option : --
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Poly-atomic

Q75 oot & & @i & Reped &7 1, 5, 11, 19, 29 &7 et 82
‘Which of the given options is the pattern of the sequence 1, 5, 11, 19, 297

Question ID : 9864494048
Status : Not Answered

Ans 1. Y24+ x—72 Chosen Option : ==
v2x24x—1
Xox2+x+1
Xaxz—x—1
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